<'RRino

KD3KR

KammRark
Instructions

{cm( CRASH (,,)J

According to ISO/ PAS 11154:2006

KD3KR_c rhinoproducts.co.uk



KD3KR:

VW Caddy 5, 2020~

*

*optional upgrade

SA428/S
SA397Ux 3 [] SA398U x 3 [ ] A466 [ ]

LHS x 2

PS519x 1 |:| PS520x 1 [ ]

EXT15-02x2 [ ] SA436x1 [ ]

2 KD3KR_c



Fitting Kit

PS176 x 4 [_] PS023x 2 [ ] PS319x 4 [ ] PS404 x 2 [ ]
FW002 (M8)x 6 [ ] FwW009 (M8)x6 [ | PS208 (M8)x 6 FTo1x 1 []
[]
” Fsosl [ (vs Fsoe1 [ | Fs059 [ ] (ms
x 50) x 4 (M8 x 35) x 2 X 25) x 16 FNO85 x 16 [ |

FTO5x 1 [ ]

KD3KR_c 3



2
%6,
o
™
<
n

SA398U

SA397U

SA397U

S404

PS023

KD3KR_c



FWO009
FW002

!

FWO009
FW002

PS208

PS208

M8 x 35mm

M8 x 50mm

T PS404 + M8 x 35mm

S

=
)\
-

gl
\

RN
A\

\

PS176 + M8 x 50mm

10.

13mm ‘

KD3KR_c



KD3KR_c

lllll S\

13.




K676/B676- VW Caddy 5 2020- Standard Roof, Tailgate
@ 100kg ‘ A

L] Max a _,\ ~ LIBIme i|
@2755mm gp l _© ’
24kg/54Ibs [ 4500mm |

K677/B677- VW Caddy 5 2020- Standard Roof, Twin Door

@ mm 100kg . I'\ uLzmm "\G

a '.
b m— Max _@ oS

—— 2755mm —
[ 4500mm

25kg/56lbs

KD3KR_c




10. 7=

8 KD3KR_c



22.

21. 7=

Wl W

A\

|
/#,
//,,,....../ Qs P2
S
"¢

\Y

\
=

)\

v

\
4

KD3KR_c



CLICK!

: ¥
ﬁmvmm /
: L\
/“ A/l,'p /
W
i
z
/ m .
Ww Nw \ u Mu

KD3KR_c

10



34.

30mm MAX

f

CLICK!

KD3KR_c 11



\
\\ UK +44 (0) 151 319 2931 rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

39.

40.

12/Ianufactured by Rhino Products Ltd in the United Kingdom. Rhinwmc']{ FQi c

Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



<'RRino

KD4KR

KammRark
Instructions

{cm( CRASH (,,)J

According to ISO/ PAS 11154:2006

KD4KR_c rhinoproducts.co.uk



KD4KR:

VW Caddy 5, 2020~

*

*optional upgrade

SA428/S
SA397Ux4 [ ]  SA398Ux4 [ A466 [

LHS x 2

PS519x 1 |:| PS520x 1 [ ]

EXT15-02x2 [ ]| SA436x1 [ ]

2 KD4KR_c



Fitting Kit

PS176 x 4 [_] PS023x 4 [ ] PS319x 4 [ ] PS404 x 4 [ ]
FW002 (M8) x 8 [] Fwo009 (M8)x8 [ ] PS208 (M8)x 8 Frorx1 []
[]
Fsosl [ (M8 Fsos59 [] (vs
X 50) X 4 X 25) x 16 FNO85 x 16 [ |

FTOSx 1

KD4KR_c 3



2
o
O
™
<
n

SA398U

SA398U
PS404

‘,70\‘
[—

U

)
~
(©)]
(92]
<
wn

SA397U
PS404

SA397U
PS404

SA397U

PS176

S404

PS023

KD4KR_c



FSO061

FWO009
FW002
PS208

!

FS081

FWO009
FW002
PS208

M8 x 35mm

M8 x 50mm

T PS404 + M8 x 35mm

S

=
)\
-

gl
«

v
.,, —\
T %

SN

S )

PS176 + M8 x 50mm

10.

12 Nm

13mm ‘

KD4KR_c



KD4KR_c



K663/B663- VW Caddy 5 2020- L2, Twin Doors

K684/B684- VW Caddy 5 2020- L2, Tailgate

@

L

27kg/60lbs

100kg
Max

P _\\,I
//;_\'/ \ lLllllmm
LJGI-;I; 2970mm @_‘ll

4853mm

4

KD4KR_c




8 KD4KR_c



22.

21. 7=

Wl W

\“

=k

i
A\

\

KD4KR_c



CLICK!
KD4KR_c

~/

PS519

: ¥
@m ,,,,,/ ,,,,/
3 ,/ | \\ _
e RV
= en\ \
W
g
Z
/ m .
N. m , u 01\_u

10



34.

30mm MAX

f

CLICK!

KD4KR_c 11



\
\\ UK +44 (0) 151 319 2931 rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

39.

40.

12/Ianufactured by Rhino Products Ltd in the United Kingdom. Rhinwmq]{ N_C

Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



<'RRino

KA3KR
KammRack

Instruclions

CITY CRASH (v)

KA3KR_b rhinoproducts.co.uk



KA3KR:
VW Caddy, 2010~

Max

N
C04 x 6
*optional upgrade*

KammRack

W\
g

Wil
\\‘\\‘\\\

sl

il
S
|

\\

—D__> —
TNl
\‘,,\"\\‘__‘

= 5

SA397U x 3[_| SA398U x 3|

PS519 x 1 [ | PS520 x 1 [ ]
EXT15-02x2 [ | SA436x1[ |

KA3KR b



Fitting Kit

=4 ")
=3
(=3
o
=

PS176 x 4 [_| PS023 x 6 [ | FTO1x1[ | FNO85x 14 [ |

O &

FW002 (M8) x 6 [ |FW009 (M8) x6 [ | PS260 (M8 x6  FTO5x 1[ |

Fso59 [ |
(M8 x 25) x 14

Fsoe2[ |
(M8 x 25) x 2

= FS081 [ |
= (M8 x 50) x 4

KA3KR_b 3



-
Y
A

VP22l
\=
52
N

SA398U

SA398U

SA397U

PS176

il

[\

2N

AL

S

KA3KR b



M8 x 25mm
= PS023

M8 x 50mm
PS176

KA3KR_b



K608- Caddy 2010- L1, H1, Twin Doors

s o
mmm 100kg a ‘ -’
+ . pax e a1 B {
o o
25kg/56lbs - 4405mm -

265mm
K609- Caddy 2010-2015- L1, H1, Tailgate
@ - 100kg _ 1L33 W
* - Max C%mm @.J L @L
25'(9/ 56lbs s 4405mm -

KA3KR b



K609- Caddy 2015- L1, H1, Tailgate

A C
v = -

@t B

KA3KR_b



Lo FNO85

8 KA3KR b



KA3KR_b



31.

CLICK!

® | 27-

CLICK!

26.

_

28.

IR\
R\

\

e

=
\\ll\.\\./u) ,
= [\ A
TITIg =4

| _?&;__.\»_.ni»_.s_:_

\ / éﬂ“

\\

\ |\
\\\ /

/ /

\

\ \
|\ /
\\\
\ \
\ \

30.

10



32.
A

77 2010-2015
ol

30mm MAX

O =y — \

=37\
@ 1—“, .‘L’§ \

I 2010-

KA3KR_b 11



A\
\UK+44(0) 151 319 2031 [@] rhinoproducts.co.uk <] saleserhinoproducts.co.uk

38.

39.

1 2 Manuf ed by Rhino Prod Ltd in the United Kingdom. KA3KR_b

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



<'RRino

KB4dKR
KammRack

Instruclions

CITY CRASH (v)

KB4KR_b rhinoproducts.co.uk



KB4KR:
VW Caddy, 2010 —

Max
50kg/110lbs

— > (]
IS e

SA397U x 4[|

o -\'\‘\
e

C04 x 8
*optional upgrade*

\I

|
S ‘\

SA398U x 4[|

PS519 x 1 [ |

PS520 x 1 [ ]

EXT15-02x2 [ | SA436x1[ ]

KB4KR_b



Fitting Kit

=4 ")
=3
(=3
o
=

PS176 x 4 | PS023 x 8[| FTO1x1[ ] FNo85x16[ |

S €

FW002 (M8) x 8 [_|FW009 (M8)x8 [ | PS260 (M8)x8  FTO5 x 1[ |

Fso59 [ |
(M8 x 25) x 16

Fsoe2[ |
(M8 x 25) x 4

= FS081 [ |
= (M8 x 50) x 4

KB4KR_b 3



PS176

SA398U

SA398U
SA398U
PS176

=
|y
o
2
(]

KB4KR_b



M8 x 25mm
= PS023

M8 x 50mm
= PS176

KB4KR_b



@ mmm 100kg _d | | - -
A )

+ —_— Max
31kg/68lbs b 4875mm

215mm
K611- Caddy Maxi 2010-2015- L2, H1, Tailgate

@ 100kg _ i

] '1“1
+ — - - mm
Max { ,'./f -\ N ’m |

30kg/66lbs o 4875mm

115mm

6 KB4KR_b



K611- Caddy Maxi 2015- L2, H1, Tailgate

@

L
e — - B S— -\
30kg/66lbs

100kg
Max

KB4KR_b




8 KB4KR_b



1.

2

ol N

KB4KR b



PS520 %

CLICK!

KB4KR_b

A

o S N
) ”// . %
. 1) . 2
¥ /,, \
/ / 2 P
A / / ]
— \\! \
LR =4

26.

_

28.

S \LEE_-E_!_!_”«{. |
AR LA
\ / NS ,,

,,,,,/ ,

LR\
W\ /
\ /
|\ /
|\
\ \
\ \

=10 Nm

\

30.

10



32.
A

77 2010-2015
ol

30mm MAX

O =y — \

=37\
@ 1—“, .‘L’§ \

I 2010-

KB4KR_b 11



A\
\UK+44(0) 151 319 2031 [@] rhinoproducts.co.uk <] saleserhinoproducts.co.uk

38.

39.

1 2 Manuf ed by Rhino Prod Ltd in the United Kingdom. KB4KR_b

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



